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E4&h 52 1,375 1,375 75 1,913 1,913
x HAT - _ _
el alil 10 200 67 5 80 20
£ IMET 7 120 120 7 120 120
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WEE T 15 361 212 16 393 280
it et 9 29 22 8 28 24
ithh 9 16 10 7 13 10
&&m
KEHET
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FimH - - - 1 8 0
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EHE - - - - - -
T A HhigE 3 50 32 3 50 31
EM - - - - - -
E4&h - - - — —
x HAT - _ _
el alil 1 10 2 1 10 1
FIMET - - - - - -
F0/KET 2 40 30 2 40 30
BEARHhIEET 4 31 13 4 32 13
W™ 4 31 13 4 32 13
it et 7 28 22 6 22 17
ithh 6 17 14 5 12 9
KEHET
%5 5T 1 11 8 1 10 8
FrT Bk higk 5 = = = = - -
D - - - - - -
[ElNEL] - - - - - -
INEIET - - - - - -
ELF - - - - - -
= ET - - - - - -
R A - - - - - -
B A - — — - - -
LR
TR ET
=B - - - - - -
2 ET - - - - - -
BB { BT - - - - - -
LI #R T
J\ K HhigEt 6 56 41 6 53 39
AT 4 42 30 4 40 29
5K JIET 2 14 11 2 13 10
EdbithigEt 3 32 26 3 39 33
KEH 1 12 10 1 13 11
EitEr 1 10 8 1 13 11
R ARHT 1 10 8 1 13 11
BREE Hhigh 51 2 10 7 1 8 6
N
FRET 1 6 5 0 0 0
% B AHET 1 4 1 1 3 1
S AITET
7K EF 0 0 0 0 0 0
HEA - - - - - -
AR - - - - - -
LT H 0 0 0 0 5 5
Ij(F‘E* X — — _ _ _ _
HIFYHE - - — - - -
RE AT 9 98 54 9 92 52
LtXEMH 5 5 5 5
XEH 7 78 40 7 73 38
ZibHEr 2 15 9 2 14 9
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X5 E{TETE = HEE E{THETE IniEs HiE
ha t t ha t t
#ERE (RED 530 5,510 3,840 493 5570 3,890
BEE (BE) 165 1,818 1,334 148 1,685 1,283
REARhIEE 8 94 79 7 77 54
REART 8 94 79 7 77 54
FhiihigE 3 50 42 3 40 28
FimH 1 10 1
Fih
EXA) 3 50 42 2 30 27
Iﬁ Hhigi et 30 320 140 14 150 65
EESN - — — - - -
E£&Th - - - - -
x HAT - _ —
el alil 10 100 40 5 50 20
FIMET - - - - - -
F0/KET 20 220 100 9 100 45
BEARHhIEET 18 196 136 19 205 142
W™ 18 196 136 19 205 142
it et 11 146 121 12 149 124
ithh
RIEH 1 36 34 2 39 36
%5 5T 10 110 87 10 110 88
FrT Bk higk 5 33 403 339 33 455 387
D - - - - - -
[ElNEL] - - - - - -
INEIET - - - - - -
ELF - - - - - -
= ET - - - - - -
R A 33 403 339 33 455 387
B A - - - - - -
LIRS 47 529 420 46 543 431
TR ET
=B - - - - - -
IR AT 9 77 58 9 77 58
BB { BT - - - - - -
LR AT a8 452 362 37 466 373
I\ hisiEt
J\RKth
JKJI BT
EdbithigEt 6 30 24 3 15 12
KEH 2 12 10 1 5 4
=B A:1] 2 10 8 1 5 4
R ARHT 2 8 6 1 5 4
BREE Hhigh 51 8 31 22 10 31 28
AEh 0 0 0 0 0 0
FRET 1 16 13 2 19 18
% B AHET 6 13 7 6 5 3
S AIET
7K EF 0 0 0 0 0 0
HEFH - - - 1 5 5
AKRH 0 0 0 0 0 0
LT H 0 1 1 0 0 0
HIFYHE 0 1 1 1 2 2
REHhigEt 2 19 11 2 20 12
LtXEMH 6 6 7 7
XEH
ZibHEr 2 13 5 2 13 5




(N f=FHhF

F R 30%F & (20185 /&) ST & (20198 )
X5 E{TETE = HEE E{THETE In#E= HiE
ha t t ha t t
#ERE (RED 317 10.400 8.740 319 13.400 11,300
BEE (BE) 191 5,737 5,004 180 6,371 5,389
REARhIEE 51 1,668 1,401 51 2,142 1,806
REART 51 1,668 1,401 51 2,142 1,806
FhiihigE 2 60 40 3 85 47
F+ih 0 0 0 1 20 5
Fih
EXA) 2 60 40 2 65 42
EXAEH 12 350 285 3 68 21
EM - - - - - -
E4&h - - - — —
x HAT - _ _
el alil 2 50 5 2 50 5
FIMET - - - Z — —
F0/KET 10 300 280 1 18 16
BEARHhIEET 11 234 128 11 228 125
WEE T 11 234 128 11 228 125
it et 0 4 3 5 48 47
sthh 4 44 44
&&m
KEHET
%5 5T 0 4 3 1 4 3
FrT Bk higk 5 0 8 7 1 8 7
D - - - - - -
[ElNEL] - - - - - -
INEIET - - - - - -
ELF - - - - - -
= ET - - - - - -
R 0 8 7 1 8 7
B A - — - - - -
LIRS 5 123 102 5 123 102
TR ET
=B - - - - - -
2 ET 5 123 102 5 123 102
BB { BT - - - - - -
LI #R T
J\ K HhigEt 10 294 282 5 140 120
AT 10 294 282 5 140 120
JKJI BT
EdbithigEt 73 2,272 2,088 73 2,888 2,533
KEH 45 1,530 1,420 42 1,760 1,550
=B A:1] 16 446 392 20 707 587
L KHET 12 296 276 11 421 396
BREE Hhigh 51 3 45 42 2 35 32
N
FRET 0 1 1 0 1 1
% B AHET 2 26 23 2 30 27
S AITET
7K EF 0 0 0 0 0 0
HEA - - - - - -
AKRH 0 0 0 0 0 0
LT H 0 1 1 0 0 0
HIFYHE 0 17 17 0 4 4
KEHigE 25 678 625 21 605 549
LXEH 18 583 553 14 523 489
xEh 2 25 22 2 12 10
ZibHEr 5 70 50 5 70 50




(8) L&

F R 30%F & (20185 /&) BRITCE I (20195 /&)
X5 E{TETE = HEE E{THETE In#E= HiE
ha t t ha t t
#ERE (RED 179 5410 4170 175 5,150 4,030
BEE (BE) 145 6,333 4137 152 6,234 5,072
REARHhIEZ 3 91 70 3 87 68
REART 3 91 70 3 87 68
FhiihigE 68 2,897 2,051 74 2815 2,210
FimH - - - - - -
iR 65 2847 2,014 71 2,764 2,172
EXA) 3 50 37 3 51 38
E & HhisEt 0 2 1 -
EESN - - — — - -
E4&h - - - - —
x HAT - - - - - -
faleall
FIMET - - - — — =
F0/KET 0 2 1 - — -
BEARHhIEET 1 19 18 1 19 18
W™ 1 19 18 1 19 18
it et 1 50 38 2 44 34
ithh 1 48 38 1 40 30
&&H 0 2 0 1 4 4
KEHET - - - - - -
5 HET - — — - - -
FrT Bk higk 5 = = = = - -
D - - - - - -
[ElNEL] - - - - - -
INEIET - - - - - -
ELF - - - - - -
= ET - - - - - -
R A
B A - — - - - -
LIRS 1 16 9 1 16 9
TR ET
=B - - - - - -
IR AT 1 16 9 1 16 9
BB { BT - - - - - -
LI #R T
J\ K HhigEt 69 3,185 1,885 70 3,175 2,668
AT 65 2,990 1,752 65 2,925 2,470
5K JIET 4 195 133 5 250 198
EdbithigEt 2 43 37 0 0 0
KEH 1 20 18 0 0 0
=B A:1] 1 23 19 0 0 0
R ARHT 0 0 0 0 0 0
BREE Hhigh 51 1 27 26 1 74 63
N
FRET 0 26 25 1 73 62
% B AHET 0 1 1 0 1 1
S AITET
7K EF 0 0 0 0 0 0
HEA - - - - - -
AR - - - - - -
LT A 0 0 0
BREEH - - -
HIFYHE - - — - - -
REHhigEt 0 4 2 0 4 2
LtXEMH 1 1 1 1
XEH
ZibHEr 0 3 1 0 3 1




9 AL

F R 30%F & (20185 /&) ST & (20198 )
X5 E{TETE = HRrE E{THETE In#E= HiE

ha t t ha t t

#ERE (RED 971 22,000 897 19,300
ERE(EED 556 13,017 11,680 547 12,585 11,282
REARHhIEZ 7 159 143 8 166 149
REART 7 159 143 8 166 149
FhiihigE 2 50 40 3 53 40
Fth 1 5 1
Fih
EXA) 2 50 40 2 48 39
EXAEH 15 280 140 10 240 120
REM - - - - - -
E4&h - - - — —
x HAT - - - - - -
7 BE T 10 160 40 5 120 20
FIMET - - - — — —
F07KET 5 120 100 5 120 100
BEARHhIEET 11 253 237 11 255 239
WEE T 11 253 237 11 255 239
it et 247 6,055 5,666 245 5,759 5,397
it 10 180 130 7 130 110
&5m 0 0 0 5 150 143
RIEH 204 5,100 4,896 201 4714 4514
%5 5T 33 775 640 32 765 630
FrT Bk higk 5 128 3,130 2,788 130 3,448 3,037
D - - - - - -
[ElNEL] - - - - - -
/MEET 5 116 48 5 110 40
ELF - - - - - -
= ET - - - - - -
R 123 3,014 2,740 125 3,338 2,997
B A - — - - - -
LIRS 124 2,695 2,312 125 2,335 2,003
T BT 0 16 16 0 16 16
=B - - - - - -
2 ET 124 2,679 2,296 125 2,319 1,987
BB { BT - - - - - -
LI #R T
J\ K HhigEt 2 26 23 2 26 23
AT 2 26 23 2 26 23
JKJI BT
EdbithigEt 3 48 32 0 36 30
KEH 1 15 10 0 12 10
=B A:1] 1 18 12 0 12 10
R ARHT 1 15 10 0 12 10
BREE Hhigh 51 14 273 270 10 218 215
AEh 1 19 19 1 11 11
FRET 1 43 43 0 3 1
% B AHET 2 8 6 1 7 6
S AITET
7K EF 0 0 0 0 0 0
HEA - - - - - -
AR - - - - - -
LT H 3 48 48 2 66 66
HIFYHE 8 154 154 7 131 131
RE AT 3 49 29 3 49 29
LtXEMH 9 9 9 9
XEH
ZibHEr 3 40 20 3 40 20
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(10)-3 FHZ[FLELY

F R 30%F & (20185 /&) BRITCE I (20195 /&)
X5 E{TETE = HRrE E{THETE In#E= HiE
ha t t ha t t
#ERE (RED 250 8.400 6.660 253 10,000 7.940
BEE (BE) 102 4612 3,689 93 4,142 3,297
REARhIEE 11 370 292 11 440 349
REART 11 370 292 11 440 349
FhiihigE 2 49 34 4 82 53
FimH 1 10 1
Fih
EXA) 2 49 34 3 72 52
iﬁ Hhig 5t 4 274 203 3 150 50
REM - - - - - -
E4&h — — - - - —
x HAT - - - - - -
el alil 3 270 200 3 150 50
FIMET - - - - - -
F0/KET 1 4 3 - — -
BEARHhIEET 26 858 744 25 815 723
W™ 26 858 744 25 815 723
it et 39 2,388 1,830 39 2,280 1,830
ithh
&EH 0 0 0
RIEH 0 0 0
%5 5T 39 2,388 1,830 39 2,280 1,830
FrT Bk higk 5 1 18 17 1 21 20
D - - - - - -
[ElNEL] - - - - - -
INEIET - - - - - -
ELF - - - - - -
= ET - - - - - -
R 1 18 17 1 21 20
B A - — — - - -
LIRS 1 50 33 1 50 33
TR ET
=B - - - - - -
IR AT 1 50 33 1 50 33
BB { BT - - - - - -
LI #R T
J\ K HhigEt 10 450 405 3 135 108
AT 10 450 405 3 135 108
JKJI BT
EdbithigEt 3 54 48 0 45 39
KEH 1 18 16 0 15 13
=B A:1] 1 18 16 0 15 13
R ARHT 1 18 16 0 15 13
BREE Hhigh 51 3 79 68 4 101 77
N
FRET 1 59 52 2 90 72
% B AHET 1 7 3 1 7 3
S AITET
7K EF 0 0 0 0 0 0
HEA - - - - - -
AKRH 0 0 0 0 0 0
LT H 0 0 0 0 0 0
HIFYHE 1 13 13 1 4 2
KEHigE 2 22 15 2 23 15
LtXEMH 7 7 8 7
XEH
ZibHEr 2 15 8 2 15 8
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(-1 FFrAY

F R 30%F & (20185 /&) BRITCE I (20195 /&)
X5 E{TETE = HRrE E{THETE In#E= HiE
ha t t ha t t
#ERE (RED 296 10,300 9.540 312 11,800 10,900
BEE (BE) 221 6,753 6,102 227 7,794 6,986
REARHhIEZ 61 1,390 1,180 63 1,750 1,360
REART 61 1,390 1,180 63 1,750 1,360
FhiihigE 1 23 18 1 22 18
FimH
Fih
EXA) 1 23 18 1 22 18
T A HhigE 11 545 510 17 829 828
EESN - — — - - -
E4&h 8 375 375 17 825 825
x HAT - - - - - -
el alil 2 130 110
FIMET - - - - - -
F0/KET 1 40 25 0 4 3
BEARHhIEET 4 142 131 4 142 131
W™ 4 142 131 4 142 131
3 it 3 17 14 3 17 14
Fithh
&&m
KEHET
%5 5T 3 17 14 3 17 14
FrT Bk higk 5 37 700 635 37 602 588
D 35 675 615 35 581 569
[ElNEL] - - - - - -
INEIET - - - - - -
ELF - - - - - -
= ET - - - - - -
R 2 25 20 2 21 19
B A - — - - - -
LIRS 27 1,065 1,002 37 1,457 1,362
fEI AR ET 5 175 160 5 180 150
=B - - - - - -
2 ET 10 420 400 10 420 400
BB { BT - - - - - -
LLIZRET 12 470 442 22 857 812
J\ K HhigEt 73 2,765 2,525 63 2917 2,647
AT 70 2,660 2,420 60 2,700 2,430
5K JIET 3 105 105 3 217 217
EdbithigEt 2 56 50 0 15 9
KEH 0 5 2 0 5 3
=B A:1] 1 25 23 0 5 3
R ARHT 1 26 25 0 5 3
BREE Hhigh 51 1 24 20 1 17 13
N
FRET 0 6 6 0 0 0
% B AHET 1 16 12 1 16 12
S AIET
7K EF 0 0 0 0 0 0
HEA - - - - - -
AR - - - - - -
LT H
HIFYHE 0 2 2 0 1 1
KEHigE 1 26 16 1 26 16
LtXEMH 6 6 6 6
XEH
ZibHEr 1 20 10 1 20 10
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(13 BFrRY

F R 30%F & (20185 /&) ST & (20198 )
X5 E{TETE = HRrE E{THETE In#E= HiE
ha t t ha t t
#ERE (RED 511 19,300 17.300 585 20,800 18,600
ERE(EED 461 17,193 15,421 464 17,620 16,039
REARhIEE 7 237 213 7 252 225
REART 7 237 213 7 252 225
FiHhiEE
FimH
Figmh
EHE - - - - - -
T A HhigE 90 5,021 4,956 91 4,900 4,800
mEM 8 616 616 10 700 700
E4&h 76 4115 4115 78 4,050 4,050
x HAT - - - - - -
el alil 5 250 200 3 150 50
FIMET - - - - - -
F0/KET 1 40 25 0 0 0
BEARHhIEET 14 435 386 13 411 352
WEE T 14 435 386 13 411 352
3 it 3 132 107 1 45 34
ithh 1 42 36 0 5 4
&&m 2 90 71 1 40 30
KEHET
5 HET
FrT Bk higk 5 47 811 639 47 647 640
D 47 811 639 47 647 640
[ElNEL] - - - - - -
INEIET - - - - - -
ELF - - - - - -
= ET - - - - - -
R A - - - -
B A - Z - — — —
LIRS 29 1,058 960 27 1,061 971
fEI AR ET 4 140 126 3 120 101
=B - - - - - -
2 ET - - - - - -
BB { BT - - - - - -
LLIZRET 25 918 834 24 941 870
J\ K HhigEt 256 9,120 7,850 266 10,000 8,790
AT 189 6,840 5.820 200 1,660 6,660
5K JIET 67 2,280 2,030 66 2,340 2,130
EdbithigEt 6 135 120 3 60 45
KEH 2 45 40 1 20 15
=B A:1] 2 45 40 1 20 15
R ARHT 2 45 40 1 20 15
BREE Hhigh 51 5 120 97 4 122 88
N
FRET 3 93 74 3 98 68
% B AHET 1 19 14 1 17 13
S AIET
7K EF 0 0 0 0 0 0
HEA - - - - - -
AR - - - - - -
LT H 0 0 0 0 0 0
HIFYHE 0 8 8 1 7 7
REHhigEt 4 124 94 4 122 94
LtXEMH 4 4 2 4
XEH
L BT 4 120 90 4 120 90
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(13) [F3NAZS

F R 30%F & (20185 /&) ST & (20198 )
X5 E{TETE = HEE E{THETE IniEs HiE

ha t t ha t t
#ERE (RED 540 6.590 5.880 506 5,670 5,060
BEE (BE) 273 2,731 2,521 262 2516 2,325
REARHhIEZ 40 488 434 40 440 393
REART 40 488 434 40 440 393
FhiihigE 1 12 10 2 14 9
F+ih 1 4 0
Fih
EXA) 1 12 10 1 10 9
iﬁ Hhig 5t 3 71 36 2 40 10
EM - - - - - -

E4&h — - - - -
x HAT - - - - - -
el alil 3 70 35 2 40 10
FIMET - - - - - -
F0/KET 0 1 1 - — -
BEARHhIEET 6 63 51 6 62 50
WEE T 6 63 51 6 62 50
3 it 19 223 202 19 225 200
ithh
&5m 7 98 90 7 100 90
KEHET
%[5BT 12 125 112 12 125 110
FrT Bk higk 5 125 826 715 125 915 870
D 3 20 18 3 24 22
[ElNEL] 39 261 246 39 289 274
INEIET 64 416 393 64 461 438
ELF 18 124 114 18 135 131
= ET 1 5 4 1 6 5
R - - - 0 0 0
B A - — - - - -
LIRS 16 217 194 16 203 185
TR ET
=B 0 4 4 0 4 4
IR AT 0 5 2 1 7 3
BB { BT - - - - - -
LLIARET 16 208 188 15 192 178
I\ hisiEt
J\RKth
JKJI BT
EdbithigEt 3 26 19 3 15 9
KEH 1 8 6 1 5 3
=B A:1] 1 10 7 1 5 3
R ARHT 1 8 6 1 5 3
BREE Hhigh 51 58 791 789 48 590 588
N
FRET 0 1 1 0 3 2
% B AHET 2 14 12 2 2 2
S RIET 11 113 113 6 42 41

7K EF 0 0 0 0
HEA - - - - - -
AR - - - - - -
LT H 0 0 0 0 0 0
HIFYHE 45 664 664 40 543 543
REHhigEt 1 13 11 1 12 11
LtXEMH 4 4 3 4
XEH
ZibHEr 1 9 7 1 9 7
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(15) FARINSHR

F R 30%F & (20185 /&) ST & (20198 )
X5 E{TETE = HRrE E{THETE In#E= HiE
ha t t ha t t
#ERE (RED 97 1,950 1,810 99 2.110 1,970
BEE (BE) 87 1,759 1,647 98 2112 2,007
REARHhIEZ 5 101 94 5 105 98
REART 5 101 94 5 105 98
FhiihigE 9 125 117 10 142 129
Fth 0 0 0 1 4 1
Figh 1 22 20 1 18 16
EXA) 8 103 97 8 120 112
Iﬁ Hhigi 5 4 57 55 5 53 51
EESN - — - - - -
E4&h 4 50 48 4 48 46
EX: 1) 0 4 4 0 2 2
faleall
FIMET - - - - - -
F0/KET 0 3 3 1 3 3
BEARHhIEET 22 352 324 23 423 403
WEE T 22 352 324 23 423 403
it et 8 80 66 8 145 135
ithh 5 35 30 6 95 92
&&m 2 30 25 2 35 32
KEHET
%[5BT 1 15 11 1 15 11
FrT Bk higk 5 24 647 616 27 777 746
D 13 390 370 17 517 497
ElNEL] 0 3 3 0 2 2
/MEET 1 28 26 1 26 25
ELH 1 38 38 1 33 33
= ET - - - - - -
R 0 4 4 1 4 4
T Bl 25 A 8 184 175 7 195 185
LIRS 0 5 4 0 5 4
TR ET - - - - - -
=B - - - 0 0 0
IR AT 0 5 4 0 5 4
BB { BT - - - - - -
LLIARET
J\ K HhigEt 13 363 347 18 443 427
J\ K 11 313 297 11 323 307
5K JIET 2 50 50 7 120 120
EdbithigEt 1 10 8 0 0 0
KEH 1 10 8 0 0 0
=B A:1] 0 0 0 0 0 0
R ARHT 0 0 0 0 0 0
BREE Hhigh 51 1 2 3 1 2 1
N
FRET 0 0 0 0 0 0
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X5 E{TETE = HEE E{THETE IniEs HiE
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#ERE (RED 15 5,900 5,620 75 6.200 5.880
BEE (BE) 71 5417 5,121 69 5,780 5,408
REARHhIEZ 31 2,790 2,720 31 3,130 3,000
REART 31 2.790 2.720 31 3,130 3,000
FhiihigE 14 1,226 1,128 14 1,232 1,115
EEi 10 886 818 10 910 820
Figm 4 340 310 4 322 295
EHE - - - - - B
Iﬁ HhigiEt
EM - - - - - -
E4&h — - - - - —
x HAT
faleall
FIMET - - - - - -
FOIKET - - - - - -
BEARHhIEET 6 182 167 5 216 200
g 6 182 167 5 216 200
5 thihigEt
Fithh
&&m
KEHET
5 HET
FrT Bk higk 5 3 167 108 3 140 91
D - - - - - -
ElNEL] 2 76 49 2 71 46
INEIET 1 91 59 1 69 45
ELF - - - - - -
= ET - - - - - -
R A - - - -
B A - — - - - -
LIRS 5 372 340 5 372 340
TR ET - - - - - -
=B - - - - - -
2 ET 5 372 340 5 372 340
BB { BT - - - - -
LI #R T
I\ hisiEt
J\RKth
JKJI BT
EdbithigEt 2 28 24 2 10 8
KEH 1 13 12 1 5 4
EitEr 1 15 12 1 5 4
R ARHT 0 0 0 0 0 0
BREE Hhigh 51 1 45 41 1 22 20
N
FRET 0 20 18 0 1 1
% B AHET 1 25 23 1 21 19
S AITET
7K EF 0 0 0 0 0 0
HEA - - - - -
FEAF
LT H 0 0 0 0 0 0
HIFYHE - - — - - -
KE A 9 607 593 8 658 634
LtXEMH 4 247 239 4 234 217
xEh 5 345 344 4 409 407
ZibHEr 0 15 10 0 15 10
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X5 E{TETE = HEE E{THETE In#E= HiE

ha t t ha t t

#ERE (RED 208 7.130 6.360 207 1510 6.660
BEE (BE) 176 5,994 5,458 177 6,367 5,784
REARhIEE 36 1,040 921 41 1,220 1,170
REART 36 1,040 921 41 1,220 1,170
FhiihigE 2 75 65 3 165 144
FiHh 1 60 54
Fih 1 36 31
EHE 2 75 65 1 69 59

T A HhigE 3 120 105 3 120 105
EM - - - - - -
E4&h - - - — —

x HAT
el alil 2 80 70 2 80 70
FIMET - - - - - -
F0/KET 1 40 35 1 40 35
BEARHhIEET 10 192 165 6 115 96
g 10 192 165 6 115 96
it et 16 259 215 17 291 247
Fithh 3 53 42 3 49 38
&5m 12 204 171 13 240 207
KEHET
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FrT Bk higk 5 20 955 861 19 875 752
D 3 183 165 3 172 142
[ElNEL] 10 440 396 10 423 370
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B A - Z - — — —
LIRS 20 674 592 20 657 562
fEI AR ET 0 4 4 0 4 4
=B - - - — - -
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KEH 1 13 10 1 8 6
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R ARHT 1 10 8 1 6 4
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N 4 132 125 4 127 115
FRET 4 141 135 4 154 127
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S AIET 5 148 142 5 158 153
7K EF 2 59 51 2 60 52
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Ij(F‘E* X — — _ _ _ _
HIFYHE 17 755 729 16 799 796
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LXEH 8 250 235 7 250 230
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ZibHEr 0 10 5 0 10 5
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REART 10 156 125 10 150 120
FhiihigE 7 79 73 12 112 105
FimH 1 11 10
Fih 5 42 40
EXA) 6 68 63 7 70 65

T & HhigEt 15 94 81 12 74 69
mEM 2 15 15 2 30 30
E4&h — - - - — -
EX: 1) 3 18 16 3 4 4
el alil 3 25 24 3 25 24
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F0/KET 5 35 25 2 14 10
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7K EF 0 0 0 0 0 0
HEFH 2 12 12 3 20 20
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LT H 2 15 15 2 13 13
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LtXEMH 2 17 16 1 18 17
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ZibHEr 4 40 32 4 40 32
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it et 0 2 1 0 2 2
Fithh
&&m
KEHET
%5 5T 0 2 1 0 2 2
FrT Bk higk 5 3 245 221 3 230 213
D - - - - - -
[ElNEL] - - - - - -
INEIET - - - - - -
ELF - - - - - -
= ET 3 245 221 3 230 213
R A - - - - - -
B A - — - - - -
LIRS 2 70 62 2 66 58
fEI AR ET 0 34 34 0 30 30
=B - - - - - -
IR AT 2 36 28 2 36 28
BB { BT - - - - - -
LI #R T
J\ K HhigEt 2 36 32 2 36 32
AT 2 36 32 2 36 32
JKJI BT
EdbithigEt 3 56 42 0 0 0
KEH 1 20 16 0 0 0
=B A:1] 1 20 16 0 0 0
R ARHT 1 16 10 0 0 0
BREE Hhigh 51 4 314 308 7 289 280
AEmh 0 0 0 0 4 4
FRET 0 35 34 0 42 42
% B AHET 2 138 137 6 130 123
S RIET 0 35 35 0 37 36
7K EF 0 34 29 0 26 25
HEFH 0 9 9 0 8 8
LT H 0 27 27 0 18 18
HIFYHE 0 37 37 0 24 24
KEHigE 1 32 25 1 30 23
LtXEMH 7 7 4 4
xEh 0 1 1
ZibHEr 1 25 18 1 25 18
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24)-1 KEMMMIARVPIZIIMNED)

F R 30%F & (20185 /&) BRITCE I (20195 /&)
X5 E{TETE = HRrE E{THETE In#E= HiE

ha t t ha t t

#ERE (RED 839 114,100 110,800 838 110,600 107,100
ERE(EED 862 116,707 113,516 862 117,421 114,775
REARHhIEZ 73 9,928 9,630 68 8,976 8,692
REART 73 9,928 9,630 68 8,976 8,692
FhiihigE 88 6,400 6,150 91 8,000 7,780
EEi 16 1,210 1,180 13 1,170 1,140
E3r 72 5,190 4970 78 6,830 6,640
EHE - - - - - B

T A HhigE 226 32,856 31,852 230 33,637 33,047
mEM X X X X X X
E4&th 208 30,700 29.800 213 31,500 31,000
EX: 1) 1 16 12 1 7 7
el alil 3 240 200 2 200 190
FIMET 14 1,900 1,840 14 1,930 1,850
F0/KET X X X X X X
BEARHhIEET 1 61 54 1 60 52
W™ 1 61 54 1 60 52

3 it 4 156 136 4 210 193
ithh 1 35 31 1 78 70
&&m 1 25 22 1 42 41
KEHET

%5 5T 96 83 90 82

FrT Bk higk 5 = = - -
D - - - - - -
[ElNEL] - - - - - -
INEIET - - - - - -
ELF - - - - - -

= ET - - - - - -
R A - - - - - -
B A - — - - - -
LIRS 8 609 564 8 615 567
TR ET - - - - - -
=B 2 233 233 2 221 221

2 ET 6 376 331 6 394 346

BB { BT - - - - - -

LI #R T

I\ hisiEt 443 65,220 63,690 444 64,520 63,080
AT 426 63,400 62,100 427 62,700 61,500
5K JIET 11 1,820 1,590 17 1,820 1,580
EdbithigEt 1 60 55 0 40 35
KEH 0 0 0 0 0 0
=B A:1] 1 60 55 0 40 35

R ARHT 0 0 0 0 0 0
BREE Hhigh 51 12 918 918 9 906 903
N
FRET 0 0 0 0 1 1

% B AHET 2 196 196 1 129 127
S RIET 1 69 69 1 68 67
7K EF 0 0 0 0 0 0
HEFH 1 50 50 1 46 46

A KH
LT A 0 0 0
HIFYHE 8 603 603 7 662 662
REHhigEt 6 499 467 6 457 426
LtXEMH 0 41 40 0 3 3
xEh 4 268 247 4 264 243
ZibHEr 2 190 180 2 190 180
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24)-2 EMFIFINTARUPIZIIMED)

F R 30%F & (20185 /&) BRITCE I (20195 /&)
X5 E{TETE = HEE E{THETE IniEs HiE
ha t t ha t t
#ERE (RED 415 23,100 22,000 413 22,800 21,700
ERE(EED 354 19,983 19,112 361 20,953 20,064
REARHhIEZ 32 799 762 32 838 800
REART 32 799 762 32 838 800
FhiihigE 57 1,870 1,795 65 2,176 2,101
EEi 8 180 167 8 186 173
E3r 48 1,680 1,620 56 1,980 1,920
EXA) 1 10 8 1 10 8
EXAEH 0 1 0 0 0 0
EM - - - - - -
E4&h - - - - — —
x HAT - - - - - -
faleall
FIMET - - - - - -
F0/KET 0 1 0 0 0 0
BEARHhIEET 7 238 188 7 230 150
W™ 7 238 188 7 230 150
it et
Fithh
&&m
KEHET
5 HET
FrT Bk higk 5 83 6,920 6,569 79 6,926 6,705
D 52 4670 4400 52 4810 4,650
[ElNEL] - - - - - -
INEIET - - - - - -
ELF X X X X X X
= ET 5 370 359 6 404 393
R 0 2 2
B A 26 1,880 1,810 21 1,710 1,660
2Rt i e 78 5,255 5113 77 5,027 4,775
TR ET 3 92 74 3 91 73
=B 3 92 82 3 91 81
IR AT 5 161 147 5 165 151
BB { BT - - - - - -
LLIZRET 67 4910 4810 66 4,680 4.470
J\ K HhigEt 84 4,646 4458 99 5,697 5,479
AT 80 4350 4170 95 5.400 5190
5K JIET 4 296 288 4 297 289
EdbithigEt 3 150 125 1 25 23
KEH 1 50 45 0 0 0
=B A:1] 1 50 40 1 25 23
R ARHT 1 50 40 0 0 0
BREE Hhigh 51 10 93 93 1 25 24
N
FRET 1 27 27 1 21 21
% B AKHT
S AIET
7K EF 0 0 3 2
HEFH 1 11 11 0 1 1
HEARF 0 0 0 0
LT H
HIFYHE 8 55 55 0 0 0
KEHigE 0 11 9 0 9 7
LtXEMH 5 5 3 3
XEH
ZibHEr 0 6 4 0 6 4
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(25)-1 REMIIDSL, I

F R 30%F & (20185 /&) BRITCE I (20195 /&)
X5 E{TETE = HEE E{THETE In#E= HiE
ha t t ha t t
#ERE (RED 296 28.200 27500 330 32,700 31,800
ERE(EED 298 31,638 29,929 315 34,146 32,559
REARhIEE 21 1,999 1,959 29 2,871 2,792
REART 21 1,999 1,959 29 2,871 2,792
FhiihigE 45 3,978 3,636 44 3,785 3,626
FimH 4 378 356 4 385 366
iR 4 3,600 3,280 40 3,400 3,260
EHE - - - - - -
T A HhigE 123 14,991 13,916 133 16,732 15,652
EESN - - — — - -
E4&h 112 13,935 12,870 120 15,223 14,153
EX: 1) 0 9 7 1 7 7
el alil 1 70 63 2 200 190
FIMET 9 966 966 9 1,292 1,293
F0/KET 1 11 10 1 10 9
BEARHhIEET 1 25 24 1 30 27
W™ 1 25 24 1 30 27
it et 3 94 83 3 155 143
ithh 1 35 31 1 78 70
&&m 1 25 22 1 42 41
KEHET
%5 5T 1 34 30 1 35 32
FrT Bk higk 5 = = = = - -
D - - - - - -
[ElNEL] - - - - - -
INEIET - - - - - -
ELF - - - - - -
= ET - - - - - -
R A - - - -
B A - Z - — — —
LIRS 5 387 349 5 406 365
TR ET
=B 1 130 130 1 131 131
2 ET 4 257 219 4 275 234
BB { BT - - - - - -
LI #R T
J\ K HhigEt 93 9,601 9,428 93 9,601 9,428
AT 85 8,673 8,500 85 8,673 8,500
5K JIET 8 928 928 8 928 928
EdbithigEt 1 50 45 0 30 22
KEH 0 0 0 0 0 0
=B A:1] 1 50 45 0 30 22
R ARHT 0 0 0 0 0 0
BREE Hhigh 51 1 53 53 1 56 55
AEh 0 0 0
FRET - - - - - -
% B AHET 1 53 53 1 56 55
S AITET
7K EF 0 0 0 0 0
HEA - - - - - -
AR
LT H
HIFYHE - - — - - -
REHhigEt 6 459 436 6 480 449
LtXEMH 0 39 39 0 36 36
xEh 4 240 227 4 264 243
ZibHEr 2 180 170 2 180 170

44




(25)-2 EMFTEDSL, 3=

F R 30%F & (20185 /&) BRITCE I (20195 /&)
X5 E{TETE = HEE E{THETE In#E= HiE
ha t t ha t t
#ERE (RED 120 4,800 4,650 121 4,800 4,650
BEE (BE) 82 3,033 2,896 81 3,009 2,901
REARhIEE 4 160 155 4 160 155
REART 4 160 155 4 160 155
FhiihigE 45 554 510 45 529 502
Fth 3 90 88 3 75 68
iR 4 460 420 41 450 432
EXA) 1 4 2 1 4 2
Iﬁ HhigiEt
EESN - — — - - -
E4&h — - - - — -
x HAT - - - - - -
faleall
FIMET - - - - - -
FOIKET - - - - - -
BEARHhIEET 0 0 0 0 0 0
W™ 0 0 0 0 0 0
5 thihigEt
Fithh
&&m
KEHET
5 HET
FrT Bk higk 5 9 408 372 8 426 403
D 3 175 146 4 195 185
[ElNEL] - - - - - -
INEIET - - - - - -
ELH 1 26 26 0 23 23
= ET 1 32 30 0 28 25
R A - - - - - -
T Bl 25 A 4 175 170 4 180 170
LIRS 7 319 303 7 318 298
TR ET
=B 0 15 15 0 16 16
2 ET - - - - - -
BB { BT - - - - - -
LLIZRET 7 304 288 7 302 282
J\ K HhigEt 15 1,530 1,500 15 1,530 1,500
AT 15 1,530 1,500 15 1,530 1,500
JKJI BT
EdbithigEt 2 36 30 1 25 23
KEH 0 0 0 0 0 0
EitEr 1 18 15 1 25 23
R ARHT 1 18 15 0 0 0
BREE Hhigh 51 1 26 26 1 21 20
AEmh 0 0 0 0 0 0
FRET 1 26 26 1 18 18
% B AKHT
S AIET
7K EF 0 0 0 0 3 2
HEA - - - - - -
AR
LT H
BREEH
HIFYHE - - - - - B
REHhigEt 1 1 1 1
LtXEMH 1 1 1 1
XEH
ZibHEr
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(26)-2 EME—<>

F R 30%F & (20185 /&) BRITCE I (20195 /&)
X5 E{TETE IniEs HEE E{THETE IniEs HiE
ha t t ha t t
#ERE (RED 12 2,070 1,890 71 2.200 2,000
BEE (BE) 44 1,711 1,577 41 1,650 1,537
REARhIEE 4 115 105 4 124 113
REART 4 115 105 4 124 113
FhiihigE 1 5 4 1 4 3
FimH - - - - - -
Fih
EXA) 1 5 4 1 4 3
Iﬁ Hhigi 5 1 25 20 1 17 12
EESN - — - - - -
EXA - — — - - -
EX: 1) 0 4 4 0 2 2
el alil 1 20 15 1 15 10
FIMET - - - - - -
F0/KET 0 1 1 0 0 0
BEARHhIEET 2 56 50 2 53 48
W™ 2 56 50 2 53 48
5 thihigEt
ithh
&Em
KEHET
5 HET
FrT Bk higk 5 3 62 52 3 60 50
D - -
[ElNEL] - - - - - -
INEIET - - - - - -
ELF - -
= ET 2 42 38 2 39 35
R A - - - - - -
B A 1 20 14 1 21 15
2Rt i e 30 1,390 1,302 30 1,377 1,299
TR ET 1 23 22 1 30 29
=B - - - - - -
IR AT 2 67 60 2 67 60
BB { BT - - - - - -
LLIZRET 27 1,300 1,220 27 1,280 1,210
J\ K HhigEt 0 3 2 0 2 2
AT 0 3 2 0 2 2
JKJI BT
EdbithigEt 3 39 30 0
KEH 1 13 10 0
=B A:1] 1 13 10 0
R ARHT 1 13 10 0
BREE Hhigh 51 1 9 8 0 5 5
N
FRET 0 9 8 0 5 5
% B AHET 0 0 0 0 0 0
S AIET
7K EF 0 0 0 0 0 0
HEA - - - - - -
AN
LT A 0 0 0
HIFYHE - - - - B —
REHhigEt 0 7 4 0 8 5
LtXEMH 1 1 2 2
XEH
ZibHEr 0 6 3 0 6 3
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27 RA—bka—>

F R 30%F & (20185 /&) ST & (20198 )
X5 E{TETE = HRrE E{THETE In#E= HiE
ha t t ha t t
#ERE (RED - ” - 249 - -
BEE (BE) 124 1,454 1,303 122 1,410 1,271
REARhIEE 8 75 60 8 80 65
REART 8 75 60 8 80 65
FhiihigE 4 43 36 4 43 36
Fth 1 5 5 1 6 5
Figh 1 13 11 1 14 12
EXA) 2 25 20 2 23 19
T & HhigEt 1 9 9 1 7 7
REM - - - - - -
E4&h — — - - - —
EX: 1) 1 8 8 1 7 7
faleall
FIMET - - - - - -
F0/KET 0 1 1 - — -
BEARHhIEET 10 84 75 11 92 83
W™ 10 84 75 11 92 83
it et 52 700 623 53 706 639
ithh
&&m 4 69 63 5 75 74
KEHET
%5 5T 48 631 560 48 631 565
FrT Bk higk 5 2 12 12 1 11 11
D - - - - - -
[ElNEL] - - - - - -
INEIET - - - - - -
ELH 1 11 11 1 11 11
= ET - - - - - -
R A - - - - -
T Bl 25 A 1 1 1
LIRS 14 206 178 14 191 168
fEI AR ET 0 8 8 0 8 8
=B
IR AT 2 38 30 2 38 30
R (£ BT 12 160 140 12 145 130
LI #R T
J\ K HhigEt 10 128 123 10 100 90
AT 10 128 123 10 100 90
JKJI BT
EdbithigEt 4 58 55 0 19 16
KEH 1 15 14 0 6 5
EdcET 2 30 29 0 8 7
R ARHT 1 13 12 0 5 4
BREE Hhigh 51 2 8 7 2 10 9
N
FRET 0 0 0 0 0 0
% B AHET 1 3 2 1 5 5
S RIET 0 1 1
7K EF 0 0 0 0 0 0
HEA - - - - - -
AR
LT H
HIFYHE 1 4 4 1 5 5
KEHigE 17 131 125 18 152 147
+TXEH 15 113 111 15 115 115
xEh 1 13 10 2 32 28
ZibHEr 1 5 4 1 5 4
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REMHFR

31 LT
F R 30%F & (20185 /&) ST & (20198 )
X5 E{TETE = HRrE E{THETE In#E= HiE
ha t t ha t t
#ERE (RED 309 11,200 10,600 309 12,500 11,800
BEE (BE) 243 9,904 9,325 240 9,742 9,170
REARhIEE 20 724 688 20 800 755
REART 20 724 688 20 800 755
FhiihigE 13 524 490 14 454 419
FimH 2 62 60 6 72 68
iR 11 450 420 8 370 341
EXA) 0 12 10 0 12 10
T A HhigE 54 2,961 2,727 53 2,866 2,641
REm 0 15 15 0 15 15
E4&h 48 2,582 2,364 46 2,531 2,319
FEHAT 2 170 162 2 83 79
el alil 0 14 12 0 12 11
FIMET - - - - - -
F0/KET 4 180 174 5 225 217
BEARHhIEET 25 875 853 25 942 911
WEE T 25 875 853 25 942 911
it et 7 251 219 7 262 228
it 5 200 175 5 200 175
&&h 1 20 17 1 30 25
RIEH 0 7 7 0 8 7
%[5BT 1 24 20 1 24 21
FrT Bk higk 5 10 446 430 11 438 423
D 8 350 341 8 345 338
[ElNEL] - - - - - -
INEIET - - - - - -
ELH 0 3 3 1 3 3
= ET - - - - - -
R 1 45 40 1 45 40
T Bl 25 A 1 48 46 1 45 42
LIRS 9 352 334 9 328 314
TR ET
=B 3 87 84 3 85 83
IR AT 0 1 1 0 1 1
R (£ BT 1 30 29 1 22 21
LLIZRET 5 234 220 5 220 209
J\ K HhigEt 82 3,199 3,040 81 3,104 2,961
AT 35 1,289 1,225 33 1,200 1,140
5K JIET 47 1,910 1,815 48 1,904 1,821
EdbithigEt 1 18 12 0 14 8
KEH 0 0 0 - - -
=B A:1] 1 18 12 0 14 8
R ARHT 0 0 0 - — —
BREE Hhigh 51 18 479 468 17 459 449
AEh 1 42 42 1 46 46
FRET 1 15 15 1 14 14
% B AHET 5 76 72 5 75 71
S RIET 2 54 51 2 43 41
7K EF 3 90 86 3 83 79
HEFH 1 56 56 1 49 49
AR
LT H
Bk EE £ 1 18 18 1 18 18
HIFYHE 4 128 128 3 131 131
REHhigEt 3 74 64 3 75 61
+TXEH - - - - - -
XEH 3 74 64 3 75 61
ZibHEr — — —

52




(32) Am>

F R 30%F & (20185 /&) ST & (20198 )
X5 IniEs HRrE In#E= =
t t ha t t
#ERE (RED 22.100 20,900 872 24,400 23,000
BEE (BE) 14,134 13,302 520 14,312 13,373
REARhIEE 6,631 6,299 258 7,224 6,810
REART 6,631 6,299 258 7,224 6,810
FhiihigE 2,032 1,948 74 2,016 1,908
FiHh 400 380 12 420 387
Fih 1,537 1,478 57 1,500 1,430
EXA) 95 90 5 96 91
EXAEH 91 81 2 55 47
REM - - - - -
E4&h 22 22 0 6 6
EX: 1) 2 1 0 3 3
el alil 46 40 1 25 20
FIMET - - - - -
F07KET 21 18 1 21 18
BEARHhIEET 850 756 38 842 723
WEE T 850 756 38 842 723
it et 632 603 31 736 697
it 482 462 25 565 542
&EH 0 0 0 0 0
RIEH 45 45 3 66 60
%5 5T 105 96 3 105 95
FrT Bk higk 5 59 54 5 52 48
D 9 8 1 8 8
[ElNEL] - - - - -
INEIET - - - - -
ELF - - - - -
=5 24 22 2 25 23
R A - - - - -
T Bl 25 A 26 24 2 19 17
LIRS 82 70 2 59 50
TR ET - - - - -
=B - - - - -
IR AT 82 70 2 59 50
R (£ BT 0 0 0 0 0
LI #R T
J\ K HhigEt 72 2,693 2,430 73 2,362 2,129
AT 71 2,640 2,377 71 2,300 2,070
5K JIET 1 53 53 2 62 59
Edehigiat 0 1 1 - - -
KEH 0 0 0 - - -
EdcET 0 1 1 - = =
R ARHT 0 0 0 - — —
BREE Hhigh 51 42 1,060 1,057 37 965 959
AEh 1 14 14 0 17 17
FRET 5 140 140 5 117 117
% B AHET 19 414 413 19 385 382
S RIET 3 62 62 2 48 46
7K EF 1 31 29 1 29 28
HEFH 2 45 45 1 58 58
AR - - - - - -
LT A 0 6 6 0 5 5
BREEH - - - - - -
HIFYHE 11 348 348 9 306 306
REHhigEt 2 2 1 2
LtXEMH 2 2 1 2
XEH
ZibHEr — —
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(33) gL,

F R 30%F & (20185 /&) BRITCE I (20195 /&)
X5 E{TETE = HRrE E{THETE In#E= HiE
ha t t ha t t
#ERE (RED 1,360 46,900 44,400 1,330 52,100 49,100
ERE(EED 880 29,874 27,872 858 31,578 29,382
REARhIEE 462 15,939 15,142 461 17,979 16,944
REART 462 15,939 15,142 461 17,979 16,944
FiHhiEE
ER - - - - - -
Figmh
EHE - - - - - -
T & HhigEt 31 931 826 29 936 864
E™H 1 15 15 1 16 16
E4&H 1 7 7 1 6 6
x HAT 16 374 340 16 496 480
el alil 0 15 14
FIMET - - - - - -
F07K BT 13 520 450 11 418 362
BEARHhIEET 220 7,938 7,151 210 7,707 6,936
W™ 220 7,938 7,151 210 7,707 6,936
it et 91 2972 2,770 91 3,110 2,887
it 5 140 133 5 158 149
&&m 84 2,790 2,602 84 2,910 2,703
RIEH 0 0 0
%5 5T 2 42 35 2 42 35
FrT Bk higk 5 0 3 2 0 3 2
D - - - - - -
[ElNEL] - - - - - -
INEIET - - - - - -
ELF - - - - - -
= ET 0 3 2 0 3 2
R A - - - - - -
B A - — - - - -
LIRS 72 2,049 1,946 65 1,816 1,725
TR ET - - - - - -
=B - - - - - -
2 ET 72 2,049 1,946 65 1,816 1,725
BB { BT - - - - - -
LLIZRET
J\ K HhigEt 0 5 4 0 3 2
AT 0 5 4 0 3 2
JKJI BT
EdbithigEt 2 11 9 - - -
KEH 1 4 3 - - -
EdcET 1 6 5 - - -
R ARHT 0 1 1 - — —
BREE Hhigh 51 1 5 3 1 5 3
N
FRET 0 0 0 0 0 0
% B AHET 1 5 3 1 5 3
S RIAT
7K EF 0 0 0 0 0 0
HEA - - - - - -
FARF - — — — _ _
LT H
BREEH
HIFYHE - - — - - -
KEHigE 2 21 19 2 19 19
LtXEMH 5 5 3 5
XEH
ZibHEr 2 16 14 2 16 14
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